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FIRST SEMESTER B.S.W. DEGREE EXAMINATION, NOVEMBER 2015
(CUCBCSS-UG)
Complementary Course
BSW 1C 02—BASIC SOCIOLOGICAL CONCEPTSFOR SOCIAL WORK
Time : Three Hours Maximum : 80 Marks
Part A;

Answer all questions.
Each question carries 1. mark.

1. Extended family consists of
(@ Husband and wife. (b) Grandparents, parents and children.
(c) Husband, wife and children. (d) Grandparents and great grandparents.
2. Who isthe father of modern Sociology ?
(a) Auguste Comte. (b) Herbert Spencer.
(c) Emile Durkheim. (d) Max Weber.
3. isan area of social living marked by some degree of social coherence.
(a) Society. (b) Community.
(c) Habitat. (d) Primary Group.
4. refersto the conflict expenenced by the individual at the time of fulfilling the functions
or social position.
(a) Power. (b) Position.
(c) Role conflict. (d) Service.
5. conceived society as an exchange of gestures which involves the use of symbols.
(a) Plato. (b) Aristotle.
(c) G.H Mead. (d) Spencer.
6. Which of the following is not an institntion ? (Theatre)
(a) Marriage. (b) Religion.
(c) Education. (d) Theatre.
7. isthe vision of Swachh Bharat Abhiyan.
(a) Clean India (b) Administrative accountability.
(c) Good governance. (d) Self-reliance.
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. 'Theory of self' is proposed by :
(a) G.H.Mead.
(c) Emile Durkheim.

(b) Herbert Spencer.
(d) Max Weber.

Part B

Answer any four questions from the following.

Each question carries 3 marks.
. Define formal and informal social control.
Define Culture.
Define social interaction.
Define social group.
Define social stratification.

Define community.

Part C

Answer any five questions from the following.

Each question carries 6 marks.
What are the agents of socialisation ?
What are the major characteristics of a Society ?
What are the characteristics of social structure ?
What are the different types of marriage ?
Explain the scope of sociology.
What are the functions of family ?

What are the agents of social control ?

Part D

Answer any two questions from the following.

Each question carries 15 marks.
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(8 x 1 =8 marks)

(4 x 3 =12 marks)

(5 x 6 =30 marks)

. "Family as a social Institution has undergone substantial changes in the post-industrial era."”
Substantiate yonrview points on the basis of problems faced by modern families.

. Narrate on different causes of social disorganization.

. "Social change is a universal phenomenon." Analyze the given statement from the view of factors

contributing to social change.

(2 x 15 = 30 marks)
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